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1. Background
Consider the scenario:

1. The UE initiates registration procedure including requested NSSAI = {A, B, C, D} via current Tracking Area.
2. Current TA supports slice A, B, C and D in the requested NSSAI. There is no AMF which can support all slices A, B, C and D. Therefore, gNB selects one AMF which only supports slice A and B and doesn’t support slice C and D. 
3. There is no specified AMF behaviour under such circumstance in the existing spec. Therefore, there are two alternative options based on current spec:
Option a: The AMF puts slice C and D in the rejected NSSAI for the current registration area. The AMF puts slice A and B in the allowed NSSAI.
Option b: The AMF neither include slice C and D in the rejected NSSAI nor include slice C and D in the allowed NSSAI. The AMF puts slice A and B in the allowed NSSAI.
4. Option a: The UE receives the rejected NSSAI for the current registration area = {C, D}, the allowed NSSAI = {A, B}, from the current AMF.
Option b: The UE only receives the allowed NSSAI = {A, B}, from the current AMF.

5. Option a: If the UE still wants to access to slice C or slice D in the rejected NSSAI for the current registration area, the UE will perform cell reselection to select another cell outside of the current TA and outside of the current registration area.
But the truth is, the current TA actually supports slice C and D, the UE doesn’t need to perform cell reselection.

Option b: The UE can still request slice C and/or slice D whenever the UE wants to.

But since the UE doesn’t know the real reason why slice C and slice D cannot be supported, the UE may continue to request both slice A/B and slice C/D, which results in endless loop.
Under this circumstance, the UE should know the real reason why slice C and slice D cannot be supported, i.e., slice C and D are supported by the current TA/RA but are not supported by the current AMF. With this, the UE can act accordingly to request access to slice C and/or slice D.
2. Proposed solution
It proposes one possible solution to the issue described above.

A new rejection cause for rejected NSSAI is defined as ‘rejected NSSAI for unavailability in the current AMF’. The UE can request the S-NSSAI(s) in the rejected NSSAI for unavailability in the current AMF within the current Registration Area (without performance of cell reselection). But the UE shall not include both S-NSSAI in the allowed NSSAI and S-NSSAI in the rejected NSSAI for unavailability in the current AMF in the requested NSSAI. The UE should not set the 5G-S-TMSI or GUAMI in the RRC message, to avoid end up selecting the current AMF which doesn’t support the S-NSSAIs in the rejected NSSAI for unavailability in the current AMF.
Proposal 1: Specify the AMF behaviour when the TA supports all S-NSSAIs in the requested NSSAI but the AMF doesn’t support all S-NSSAIs in the requested NSSAI.

Proposal 2: Introduce a new rejection cause for rejected NSSAI as ‘rejected NSSAI for unavailability in the current AMF’.
The proposal is formulated in CR C1-213230 for rel-17 against 3GPP TS 24.501, as a starting point.
